131% — o e CEESY P4 L
®wIo5>v
HE2017.5 [#FEff 2017458 ~] 8% TRTTSFRIFPL
itk JIS 5K JIS 10K 13Uk
T i i B
N ®O|E | mELE | A rﬁfﬁ{iﬁgﬁz) ®o|oa | mee e | (@g{) N
15A /2 B 690 910 770 990| M10X38(4) | 1,300 | 1,660 | 1,460| 1,860| M12X45(4) |15A |'/= B
20 | 3/4 850 | 1080 1020 1,290, M10X45(4) 1,710 | 2,150 | 1,910 2,440| M12X50(4) | 20 | 3/4
25 | 1 1060 | 1320 | 1,270| 1,610 M10X45@4) | 2,650 | 3,230 | 2,970| 3,770] M16X50(4) | 25 1
32 | 1Y/4| 1,910 | 2,280 | 2,230| 2,820 M12X454) | 3,580 | 4,390 | 4,070 5,130 M16X55(4) | 32 | 1'/4
40 | 1Y/2| 1,960 | 2,320 | 2,440| 2,980| M12X454) | 3,660 | 4,510 | 4,350 5,340| M16X55(4) | 40 | 1'/2
50 | 2 2,150 | 2,740 | 2,920| 3,890| M12X50(4) | 3,780 | 4,760 | 4,720| 6,000 M16X55(4) | 50 | 2
65 | 21/2| 3,010 | 3,850 | 4,220 5,640 M12X50(4) | 5,240 | 6,620 | 6,830| 8,740 M16X60(4) | 65 | 2!/2
80 3 4,030 | 5,090 | 5,650/ 7,500 M16X50(4) 5290 | 6,700 | 7,370/ 9,400 M16X60(8) | 80 | 3
100 | 4 4,810 | 6,080 | 7,730| 9,890| M16X55(@) | 6,300 | 7,950 | 9,680 12,340| M16X60(8) | 100 | 4
125 | 5 6,510 | 8,280 | 10,900| 13,920| M16X55(8) | 9,640 | 12,130 | 15,170| 19,380 M20X65(8) | 125 | 5
150 | 6 8,950 | 11,390 | 15,790| 20,160| M16X60(8) | 12,810 | 16,190 | 21,340| 27,280 M20X70(8) | 150 | 6
200 | 8 |12,680 | 16,150 | 25,590| 32,660| M20X65(8) | 15,170 | 19,170 | 29,410| 37,550 M20X75(12) | 200 | 8
250 | 10 | 19,110 | 24,350 | 40,600| 51,830| M20X75(12) | 24,000 | 30,560 | 47,790| 61,020 M22X90(12) | 250 | 10
300 | 12 | 20,750 | 26,420 | 51,180| 65,330| M20X75(12) | 25,620 | 32,630 | 58,810| 75,060 M22X90(16) | 300 | 12
350 | 14 | 36,620 | 44,650 | 90,300(111,030| M20X75(12) | 42,630 | 52,010 {105,180|128,430| M22X90(16) | 350 | 14
400 | 16 | 44,210 | 53,940 [114,100|140,290| M22X90(16) | 60,660 | 74,320 {148,480|181,320/M24X100(16)| 400 | 16
450 | 18 | 55,960 | 68,300 [144,200(177,270| M22X90(16) | 76,640 | 93,470 {194,950|238,040 M 24 X100(20) | 450 | 18
500 | 20 | 62,160 | 74,190 |171,800|207,220| M22X90(20) | 89,990 {107,380 {232,580 (283,990| M24X100(20) | 500 | 20
i 20KRF BE L—2735 > v10K
mH|m 1 B mE| g e
+ SN EN-) ik BVRNE N
15A /2B 1,980 2,560 | M12X60(4) 15A /2 B 1,400 | M12X45(4)
20 3/4 2,430 3,160 | M12X60(4) 20 3/4 1,750 | M12X50(4)
25 1 3,780 4,910 | M16X60(4) 25 1 2,650 | M16X50(4)
32 1'/4 4,760 6,150 | M16X65(4) 32 1'/4 3,400 | M16X55(4)
40 11/2 4,970 6,200 | M16X65(4) 40 11/ 3,450 | M16X55(4)
50 2 4,970 6,580 | M16X65(8) 50 2 3,990 | M16X55(4)
65 21/2 6,890 9,100 | M16X70(8) 65 21/2 5,520 | M16X60(4)
80 3 10,050 13,260 | M20X75(8) 80 3 6,130 | M16X60(8)
100 4 12,950 17,110 | M20X80(8) 100 4 6,520 | M16X60(8)
125 5 20,610 27,230 | M22X80(8) 125 5 9,970 | M20X65(8)
150 6 26,650 35,250 | M22X90(12) 150 6 13,330 | M20X70(8)
200 8 33,270 43,950 | M22X90(12) 200 8 15,760 | M20X75(12)
250 10 57,810 76,370 |M24X100(12) 250 10 24,960 | M22X90(12)
300 12 68,100 90,000 |M24X110(16) 300 12 27,830 | M22X90(16)
¥%y F V- R b OFlfifg i P226 ~ P227 & SHAHGE 9, 350 14 38,180 | M22X90(16)
% y?fx7a‘/j‘)éa‘zz::‘ﬁ3%vdﬁb T MRS I — s & RS T, 400 16 63,830 | M24X100(16)
[/vHizzs50Y]
JYHRAT TV VREROBRRET 2 2 () % 450 18 82,800 |M24X100(20)
@@<?6%K@%%%@xy$&ﬁvLLt??yﬁfﬁo 500 20 93,960 |M24X100(20)
[L=—x735v]
BHEEE LEVWT IV VTE, (AL 80

B COMVAEREN TG R D T,

56




